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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30
Time : Three hours

The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each

2 1 (@) x4 = 4
1®) 1x2 = 2

~ 1 (o) Ix2 = 2
Q. Nos. 2-6 carry 2 marks each 2x5 = 10

Q. Nos. 7-11 carry 3 marks each 3x5 = 15

Q. Nos. 12-18 carry 5 marks each 5x7 = 35

Q. Nos. 19-22 carry 8 marks each 8x4 = 32

3 Total =100
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1. (@) Fil in the blanks with appropriate word/ words : 1x4=4

TolgE W97 I I 2o o) Tl 8
() The interest due to the retiring partner is transferred to his

account in case it is not paid immediately.

mewwleﬁmm@mﬁﬂﬂﬁﬁwﬁmmw
=¥, ©IREE O Bl ©F ERIG R GIGISEURER

(i) A partner acts as of the firm.

GG AT AfSDDI e i Jter S |

(iii) In case of fixed capital, a partner’s Capital account always

shows a balance.
ZA R CFE, GG ST e TR
Tg@ (A |

(iv) Unrecorded assets when realised are credited to

Account.
SRS F9E T4 WM 2, O AR (et a1 |
(b) Choose the correct alternative : 1x2=2

ug Ted (@0 W @ ¢

(i) Balance Sheet shows :

Tq@@ (M 3
(1) Financial position of a company
GFo @i S w7
28T ACOU (BENG) [2]
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(2) Profit and Loss of a company
G @A S~

(3) Cash flow of a company
G @R T (TR BAZ

(4) All of the above.
AR IR T |

(ii) Financial statements are :

e Rgfoute == 3

(1) Detailed reports of the recorded facts.
TRige R Rge dferw |

(2) Detailed reports of the cash transactions only.
Y AW WSTR[ Aferw |

(3) Summarised reports of recorded facts.

TRge AR ARG e |

(4) Summarised reports of the financial institutions only.

agig Rel efSvmelr wiFe afeww |
(c) State whether the following statements are true or false : 1x2=2
o7 A 8@ TR 8

() Interest on Partner’s Capital is credited to Partners’ Drawings
Account.
SOTMIRA LR TAR (78 0 AW Szl AR (s =
|

(i) Life membership fee is a Revenue receipt.

WG S WP G AEH @R 2|
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2.  State any two features of a Not-for-profit organisation.

AS-2r 1 A1 I (7 (P 7o ey @l

3. What is a Common Size Statement ?

T (Common Size) &f$@ma Fe0e F1 @RI?

4. Mention any two distinctions between shares and debentures.

SRAAG @ el W AP (T (@A 75 ST By T |

5. What do you mean by Forfeiture of shares ? 2
DA ACSTASFI] TeTC0 B (@2

6. What do you mean by Comparative statement ? 2

RIS A IS F @RI?

7. Explain the meaning of Cash Flow from Financing Activities. 39

RE FIfeel (A T 2[IEa oL iR I |
OR / &24!

From the following information, calculate Stock Turnover Ratio : 3

NGRS O (A TGN TSN oo el et ¢

Sales (R&Y) = T 4,00,000/ -
Average Stock (¢ ge#i4]) = T 55,000
Gross Loss Ratio ((N5 GIAIGR S2I©) = 10%
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Mention any three objectives of financial statement analysis.
Réw afdrwm Roswem @ e @715 Sy S el |

OR/ &4t

Briefly explain the nature of financial statements.

R afermmalm oS scewee T |

Mention any three limitations of financial statements.

REH eformew 7 e fE3/F Mmoo S el |

OR / &4

Explain the meaning of Ratio Analysis.

St ReaaceR el It e |

Mention any three distinctions between Fund-based Accounting and Non-

3

10.

fund-based Accounting.

Afefofes e ¢ wsifafofes Zaraacem st A/ & e foafs ek
TEd IE
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OR/ @94l

What do you mean by Income and Expenditure Account ?

oI 8 I AR T F @R

profits in the ratio of

11. Amar and Bahadur are partners of a firm sharing
3:2. They admit Mery as a new partner for % th share in the future profits.
The new profit sharing ratio between Amar and Bahadur is agreed to be .
2:1. Calculate their sacrificing ratio. 3
O 6 ARG 3:2 SIS FS I G ARSI AR | Ol Ol
SIS Vs SROR Tolf (AN 9 TN fZA TGS R | S 8 IR Ty
ST TG T A 2:1 | O G Speits [l e |

OR/ 9%l

Ranjana, Sadhana and Kamona are partners sharing profits in the ratio of
4:3:2. Ranjana retires and Sadhana and Kamona agree to share future
profits in the ratio of 5:3. Calculate the gaining ratio. 3
G, LA 8 T 4:3:2 FIATS FAS Io I WM | TG TR &2 (S,
A 8 I SRS 5:3 WIS #C 57 TR Fais @ | Tope Area
welte AT |

28T ACOU (BENG) [6]
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12. From the following Receipts and Payments Account for the year ended
31st March, 2017 and other details of KAZIRANGA SPORTS CLUB,
prepare an Income and Expenditure Account for the year ended 31st

March, 2017 : 5
2017 ~a 31 i SIF (*1F 26T T Ty Fey 2wg KAZIRANGA SPORTS
CLUB~E T3l '@ QA4 23114 '8 SRy 92 (/G 31 15, 2017-(F S 324! IR
T -G 2R e S 2

Receipts and Payments Account

ol @ 495 B
Receipts (G1) €3] Payments (J95) €3]
Cash in hand on 01.04.16 10,000 | Salaries ((I%+) 8,000
(01.04:16 ST QTS AP oM =) Honorarium (=1 wiEei) 5,000
Subscriptions : Sports Expenses 2,000
(or) @ ((RFF 2A7B)
2015-16 : 1,000/-
Rent (S1®Y) 3,000
2016-17 : 30,000/ -
201718 : 2,000/- 33,000 Travelling Expenses 2,000
CLIGEINED)
Donation (Wi9) 7,000
Purchase of Furniture 35,000
Interest (3]7) 3,000
(IR @)
Donation for Buildings 10,000
Cash in hand on 31.03.17 15,000
CRCERDIRGDY)!
(31.03.17 ©Ifft Zre A 75w &)
Life Membership Fees 7,000
(SNSRA FW] NS)
70,000 70,000

28T ACOU (BENG) [7] Contd.
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Additional Information :

Sfelie wey ¢
()  Outstanding Salaries = 2,000/ -
e (Joq

(ii) Prepaid Rent = 1,000/-
TN ATE Srol

OR / 523

Explain the steps in preparation of Income and Expenditure Account. 5

SR 1R oS 1T o ey el R FEI

Charles Ltd. made a profit of Z 1,00,000/- after charging depreciation of ¥
20,000/ -on assets and a transfer to general reserve of ¥ 30,000/-. The
goodwill written off was % 7,000/- and gain on sale of machinery was ¥
3,000/-. Other information available to you (changes in the value of
current assets and current liabilities) are : debtors showed an increase of
% 6,000/ -; creditors an increase of ¥ 10,000 /-; prepaid expenses an increase
of ¥ 200/-; bills receivable a decrease of 2 3,000/-; bills payable a decrease
of ¥ 4,000/- and outstanding expenses a decrease of ¥ 2,000/ -.

Ascertain cash flow from operating activities. 5

BIe fFIfRCE® 20,000/ - Bt FT>ifea i s am fca @== 30,000/~ it Al
sffére g S A9 1,00,000/- B FS FR | 7,000/~ Bt FNE A 0 4R
TS Rt T 3,000/ - Bl 11© T | Sl ©2 (STF (ST 2= (55176 Fifes
AR 531G (AR T SARSH) 8 (T 6,000/ - BRI 3, sAheam= 10,000,/ - Bio
3 200/- DR Ew @6 N Jfe; 3,000/- SR AR 219 4,000/~ BR o
Rew” 2%, w2me [T 2,000/ - Bt T @E| Lu

JRANRE FA! (A F5 2 /g Felw 01 |
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OR/ &a]
Explain the terms : 2Y2+2Y1=5
THA o (term) STAR Y A 3

() Cash Equivalents
il o

(1) Cash flows
CRLR-SIEY

Mention any five objectives of Ratio Analysis. 5
oS ROSeR (@ (@I #Aibis Tre S FE |
OR/ G941

Calculate current assets of a company from the following information :
5

RERRe o2 (U@ @ @iTR sErer=ifeara A el 3

Stock turnover Ratio = 4 times

TGEATNR TRS TATS = 4 AR

Stock at the end is ¥ 20,000/- more than the stock at the beginning.

(NI (%) TGS #TCR SR 3R HGS AU AR (T 20,000/ - Bt AT |

Sales  3,00,000/- and gross profit ratio is 20% of Sales.

@@t 3,00,000/- SRl @ RGeS sEire R 20% |

Current liabilities = Z 40,000/ -

efe (el 40,000/ - BIFl

Quick ratio = 075

e were = 075

28T ACOU (BENG) [9] ~ Contd.
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15.  Shyam, Gagan and Ram are partners sharing profits in the ratio of 2.2:1“7
On 31%t March, 2017, their Balance Sheet was as follows : 4

I, il 8 AN 2:2:1 wmma%awwaﬁmlzwﬁzow—ﬁm 0 Ol

Tgenla fiwamel e g
Balance Sheet (T%€~@) ﬁ]
Liabilities (%) @) Assets (77°I%) ® 3
Sundry Creditors 50,000 Cash (717 ©1%) 5,000
Rida sireamia .,
. Debtors (A= I7IK) 20,000
Reserve (5f&) 10,000 :
Capital : Stock (&) 25,000
() & Machinery (TZ) 20,000 |
Shaym (*Ii1¥) : 20,000/ - .,
Gagan (411) : 10,000/ Buildings (93) 30,000 ¢
Ram (A1) :10,000/4 40,000 |
1,00,000 1,00,000 |

Gagan retired on that date and Shyam and Ram agreed to share future
profits in the ratio 5:3. A‘
191 O& ST SR &9 T 8 * I G2 A SRIAICS 5:3 SIS &S Io I
Pl ezel 1

Stock, Machinery and Buildings were revalued at ¥ 20,000/-, ¥ 15,000/ -

and ¥ 45,000/~ respectively.
TErooiely, TFATS 8 3= TAEF 20,000/ - BIFF, 15,000/ - BiF & 45,000/ - BiFice

SFfeR Al 2T |

Prepare Revaluation Account and Partners’ Capital Account. 215+214=5
ATLIE AR 8 AW Tk 2o oo I | |
OR / G241

Prepare the new format of the Balance Sheet of a company with the major
headings only. 5 #
GG JYRCERN A 7T G0 (@FINE CFeoitad a9 SIFRf efws 3@l

28T ACOU (BENG) [10]
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16. Mohit, Shohan and Rahul were partners sharing profits in the ratio of
2:2:1. Their Balance Sheet as on 315t March, 2017 was as follows :

%S, G @ AT 2:2:1 SHAACS &S 67 SR | 31 W6 2017 O
o Tgerd W (e g e ¢

Balance Sheet (Tge?@)

Liabilities (C#=M) €)) Assets (F7(f@) ®
Capital : Fixed Assets 60,000
(FFT) 3 (2 7fe)

Mohit : 30,000/-
Rahul : 20,000/~ 70,000  Sundry Debtors 20,000
General Reserve 5,000 (Rfea em)
(e +ffen) Cash at Bank 10,000
Creditors 25,000  (zpim 2t wom =)
1,00,000 1,00,000
=

Shohan died on June 30, 2017. It was agreed between the remaining
partners and his executors that :

20171 30 G GIRGH J9 20 | OF SEARER] ¢ SRiE SRAMRTR g pie =
@, ¢
(i) Goodwill will be valued at ¥ 50,000/ -.
SHICE S0 50,000/ - OIet &1 = |
(i) Interest on capital be provided at 10% p.a.
YA BT 0 IR MO 10% &1 (T

(iii) Profit for the year 2017-18 be taken as having accrued at the same
rate as that of the previous year which was 2 40,000/ -.

2017-18 = e Refe IR FANRE T@ 06 6 AR I sifase Tz
40,000/ - Bl |
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(i) The amount due to Shohan shall be transferred to his Ex

Loan Account.

IR o Wl ol SeEiR w6l B e o Ze el 2

Prepare Shohan’s Capital Account as on the date of his death. 5
CIRICR Y O O e 21 2 s el | ;
OR/ G241
- What is Partnership Deed ? Mention any three distinctions betweenzljgig

and Fluctuating Capital Accounts of partners.

SRS WieTe IS HY @W?WQW%WWWGWW@i: o
g I (T G oG AN G FE |
b

SONU and ASHU were partners sharing profits in the ratio of 3:1. Their |
Balance Sheet as on 315t March, 2017 was as follows :

8 i 3:1wq9nrwmﬁ®qmw%fi?flzm7wmm€@ﬁm |

17.

St Cgeig mEsael =4 ¢
Balance Sheet (€g€%@)

Liabilities (=) () Assets (7I(G) €d)
Creditors (2l'\eawi) 10,000] Cash at Bank 20,000
Loan () 20,000 (TH T=N)

Capital : Sundry Assets 70,000
(FF74T) ¢ (Rfae 1=1f8)
SONU = 50,000/- Profit and Loss Account 40,000
ASHU = 50,000/- 1,00,000| (re-CNe Z39) 1
1,30,000 1,30,000
28T ACOU (BENG) [12] ’
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The firm was dissolved on the above date. The assets were realised at %
50,000/ -. Creditors were paid at a discount of 20%. SONU agreed to pay
off the Loan. Realisation expenses were ¥ 2,000/-. Prepare Realisation

Account, Bank Account and Partners Capital Account. 5

oiRiTe iR afodieR S 905 | Fife Rfe F@ 50,000/ B SN 23 |
SNSRI 20% ATBICS AR 1 7eatt | 7] et AR T0o G 28 | S
<5 2ERE 2,000/- B SMEE ZAR, TF ZAR ¢ SIRTMReE T 2AR
TS A |

OR/ 541

What do you mean by Dissolution of a Partnership ? State three grounds

for Dissolution of Partnership. 2+8=5

SIS SR TETCe F @R 2 SR AR foafs +fEfEfe S @l |

Explain the terms ‘Over-subscription’ and ‘Under-subscription” of Shares.

2o+21H=5
L (R SR i IOMIUE ‘FAN-TFTTAS TR I |
OR / 5231

What is a ‘Preference Share’ ? Mention the different types of Preference

Shares. 2+3=5

SRS ST TS F) QI 2 SIS SRAACT e eieTE SE
T |

28T ACOU (BENG) [13] Contd.
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19. Following is the Trial Balance of RAM and SHYAM as on 31° March, 2017
31 6, 2017 I A1 @ *icww S7@ e »fafb f e 2T 2 '

— gw—

T T, T W T — "

o ey

r‘

Dr. Trial Balance (¥5@ fete-o@) Ci
Particulars (f3334) ®) Particulars (Ra3¢) ® _—
Plant and Machinery 10,000 | Capital Accounts : 1
TP @ IS e 219 ¢ :
Freight on Sales 3,000 RAM = 36,000 !
S5 [N -1
Publici SHYAM = 40,000 1
Fat Sl I 764000 3
Land and Buildings 50,000 | Trading Account |
o 8 o 77 R Bk %
Sundry Debtors 10,000 | —Gross Profit 60,000
[Ry =i — (G e ‘l
Bad debt 2,000
SRR el Creditors 12,000 |
Cash at Bank 15,000 | =heamIi |
PIE AT 9% = |
Investments 8,000 | Bank Loan 8,000
KGR [E A
Cash in hand 1,000
3o A A9 oL Bills payable 6,000
Salaries 12,000 | 7@ &e
(&on|
Rent 8,000
2
Stock 25,000
Tt
Drawings :
RIESRIE
RAM = 6,000
AN
SHYAM = 10,000
- 16,000 -
1,62,000 [ 1,62,000
28T ACOU (BENG) [14]
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Prepare a Profit and Loss Account and the Profit and Loss Appropriation
Account of the firm for the year ended 31% March, 2017 and a Balance
Sheet as on that date, after taking into consideration the following
additional information : 8

Ay e SRE SUERE Kbl I 31 Wb 2017 Of ¥t (47 R T-EH &)
WWW@W—WEWWGWWW
THeAd SFS I 8
(i) Outstanding Salaries % 3,000/-.

TRTE (I |

(i) Ram will get a Commission of X 10,000/ - for the year.
N IRBI & 10,000/ - SR wefF A |

Hunda Limited issued 10,000 equity shares of 100 each payable as follows::
g 20/- on application
Z 30/- on allotment
Z 20/- on first call
Z 30/- on second and final call.

10,000 shares were applied for and allotted. All money due was received
with the exception of both the calls on 300 shares held by SUPRIYA. These
shares were forfeited. Give necessary journal entries. 8

=1 FHRCET 10,000 Bt 100/- Bie Feoia FTste g Smreasy e /i 3 8
W 20/ - Bt |
HRBE 30/- O
AN &R 20/ - i |
2SN 8 pUI% el 30/- Bl |
10,000 Bt SRHASTTT T SN (AT kB FA1 2 | e e ARR 300 B

S By AR O Qo AF! A NS WL M ZEN | G2 S
e A ZCE | NI SEm AR e |

28T ACOU (BENG) [15] Contd.
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- repayable after 5 years at a premium of 5%.

OR/ 59 ;
Write short notes on : ‘

e B R 3 - ]

(i) Re-issue of forfeited shares . 1

AT SRHAATT e

(ii)) Calls in Arrears
BlcTIRCECIRC

(ii7) Calls in Advance ]

Ay et oref

(iv) Reserve Capital.
RS A |

X Ltd. issued 5,000, 16% debentures of ¥ 100/- each at a discount of 5%

You are required to pass necessary journal entries and show the “Loss on

Issue of Debentures Account” over the period of five years. 8

X-FfS5w 5 I2@F < 5% SE2E@ “AfFeigcasy 5,000 T 100/ - B 16% Ao
5% 3JGite RfF @ | SR Tiawt AR wie @R “Adoig R T = =o””

A6 IHET T (TS |
OR / G217

What is meant by a debenture ? Explain the different types of debentures.
2+6=8 &

ool e Dl @R e T Aeeitag = @ |
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22. A and B are partners sharing profits in the ratio of 3:2. Their Balance Sheet
as on 315t March, 2017 was as follows :

A8 B 3:2 SHAITS FIS I3 I SIAWR | 31 T8, 2017 ©iffcd ©itvd Tgesa A

e el 8
Balance Sheet
(Tgeria)
Liabilities (C79) ®) Assets (379if@) ®)
Sundry Creditors 20,000 | Cash in hand 3,000
R/RY A e A T 5
Capitl: Sundry Debtors 12,000
K /Ry cawE
A = 30,000/-
B = 20,000/- Stock 15,000
| 50,000 | SEro®ie
Furniture 10,000
NS U]
Machinery 30,000
oIS
70,000 70,000

C was admitted as a new partner on the following terms and conditions :

T SSAATE C-(F o M BACT 38 ZE &

(i) C will bring ¥ 15,000/~ for capital and ¥ 5,000/- for his share of
Goodwill for 1/6 th share in the future profits.

C oGRS 15,000/- BRI € FCS 1/6 SKCW G AN BISL
5,000/ - Bl (MR |

28T ACOU (BENG) [17] Contd.
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(i) The value of stock to be reduced by Z 2,000/~ and that of Machin
be increased by ¥ 8,000/-.
AT S 2,000/ - Bt 2T A @ TgeNes 70 8,000/ - B I =

@l |
(iii) The value of furniture to be fixed at ¥ 9,000/~ 1
PRI &1 9,000/ - Siice 27 T T

Balance Sheetﬁ

Pass journal entries in the books of the firm and prepare the
ol

of the new firm.

ASHIR WoITs Tirmt 2R W Gag A v Tgerid eFe Tl |

OR/ &<l

Give journal entries on dissolution of a Partnership firm in respect of the
1 X8=8 .

following :

SIS I S { (el SRgReR & il ARk me ¢

(i) For transfer of assets.

791G FAIGHIER T |
(i) For sale of assets.
wife [ z=
@iii) If any partner takes over any asset.

@I SRR TS e I |

28T ACOU (BENG) [18]
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(iv) For payment of liabilities.

e AR T |

(v) For payment of Realisation Expenses.

SRR 2 AR &) |
(vi) For realisation of unrecorded assets.
oo T =1 e SRR S |

(vii) For transfer of the balance of General Reserve Account.

e S A Al Tgred FEEA & |

(viii) For payment of Partner’s Loan.

TNMIEE AR A A9 AR G |

28T ACOU (BENG) [19]



